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BEAR  FTLRYT i) kook ok ko ok
ERHD B 40 %iE 40 LA Xk ok xx
R ok ok ok ok X

NE {52 K % $nEE | LEEY | £#mk | GROSS | HDCP NET || NEfZ K % #nEE | EEEY | AR | GROSS [ HDCP NET || NEfE K % #nfe | LEBY | £#k| GROSS | HDCP NET
1A #F5 36 | 32 68 | +0.3 | 68.3 51 |ikik =& 35 317 12 0.0 | 72.0 | 101 |dk EX 43 | 39 82 1.8 14.2
2 |EH FiE 43 | 37 80 | 11.3 | 68.7 52 |MfE ZH2 44 | 44 88 | 16.0 | 72.0 (| 102 |##F ##EA 45 40 85| 10.8 | 74.2
3 |luA =¥ 38 | 41 19 1 10.1 68. 9 53 | KB —H 45 45 90 | 18.0 72.0| 103 [/hE EBF 45 40 85| 10.8 | 74.2
4 |HE FHH 36 | 41 11 1.8 69.2 54 Bl RIA 50 | 51 101 29.0 [ 72.0 (| 104 [RE = 43 | 46 89 | 148 74.2
5 [FRAX IE 48 | M 89 | 19.6 [ 69.4 5 |AfRk B 37| 31 14 1.9 721 105 |&3# J\HA 43 | 46 89 | 14.8 | 74.2
6 |dLFE F=E 41 | 41 82| 12.5 | 69.5 56 |EHA £ 48 | 46 941 21.9 | 72.1 106 |Fa+t &= 41 | 48 89 | 148 74.2
1 (B BF 42 | 40 82| 12.5 | 69.5 57 |f&83t #5 41 1 39 80 1.8 | 72.2 | 107 [$RE #EE 46 | 43 89 | 14.8 | 74.2
8 |a[fR Ri 41 | 40 81 11.3 | 69.7 58 |Hik & 45 | 42 87| 14.8 | 72.2 | 108 |@E+t I 43 48 91 16.8 | 74.2
9 |I5E &E— 35| 38 13 3.1 69.9 59 /MK FE— 43 | 44 87 | 14.8 | 72.2 | 109 |f1E == 48 | 41 9 | 20.7 | 74.3
10|=H # 34 36 10 0.0 | 70.0 60 [db)I = 50 | 49 99 | 26.6 [ 72.4 ] 110 [=AR EFE 55 | 53 108 [ 33.7 ] 74.3
" hNE RE 43 45 88 18.0( 70.0 61 |k FEa 49 51 100 | 27.6 | 72.4 (| 111 |;/@A FHBCS 46 38 84 9.6 | 74.4
12 [N ZEX 48 45 93| 22.8( 70.2 62 |k E=& 42 | 43 85 12.5 | 72.5 | 112 |¥.R &— 44 40 84 9.6 | 74.4
13 |#iE i 40 | 43 83| 12.5 | 70.5 63 [K#§ IE8 40 41 81 8.4 | 72.6 || 113 XA £5H 49 | 45 94| 19.6 | 74.4
14 |AR  AER 42 | 41 83| 125 70.5 64 |EmHE Sk 47 | 44 91 18.4 | 72.6 || 114 [kt & 46 | 55 101 26.6 | 74.4
15 |iE fedt 40 | 36 16 5.4 70.6 65 [F Ez 54 45 9 | 26.4 | 72.6 | 115 [MKX F= 96 92 108 [ 33.6 | 74.4
16 |5H# E= 37| 44 81 10. 1 70.9 66 | 5R—E&R 43 | 4 84 | 11.3 | 72.7 | 116 |BH BE 44 | 43 87| 125 74.5
17 |58 83 92 | 42 941 23.1 70.9 67 |ZH T3 92 | 45 97 | 24.3 | 72.7 || 117 |FE #&X 44 45 89 | 14.4| 74.6
18 |%Il ik 39 | 4 80 9.0 71.0 68 |E¥r = 42 38 80 7.2 | 72.8 (| 118 [IUA J5EhE 43 | 50 93 | 18.4 | 74.6
19 |3 & o1 38 89 | 18.0( 71.0 69 i ZEZ 92 | 51 103 | 30.1 129 | 119 [FKXK QA& 47 | 46 93 | 18.4( 74.6
20 [mI3+ FERK 50 [ 50 100 [ 29.0 ] 71.0 70 |i& EB— 44 | 38 82 9.0 73.0 120 |0 fE— 94 | 46 100 [ 25.4 ] 74.6
21 |=m@ - 39 | 40 19 1.8 11.2 n(KF & 48 | M 89 [ 16.0 | 73.0( 121 |}k MG 44 | 42 86 | 11.3 [ 74.7
22 (luA 1A 42 | 44 86 | 14.8 | 71.2 12 WA Bt 50 | 52 102 | 29.0 | 73.0( 122 |&HEK EBB 51 | 55 106 | 31.3 | 74.7
23 (FA &t 43 | 43 86 | 14.8 | 71.2 13 |BR 13z 46 | 49 95 | 21.9 | 73.1 123 |#E =F 47 M 88 | 13.2 | 74.8
24 | B— 48 40 88| 16.8 [ 71.2 14 [INE BF 50 46 96 | 22.8 | 73.2| 124 |[Nim EHHE 49 | 43 92 | 17.2( 74.8
25 (FH¥F 2 47 | 45 921 20.7( 71.3 75 UK ZEF 48 | 53 101 27.8 | 13.2 || 125 |E&H B 49 o1 100 [ 25.2 | 74.8
26 |Bx 39 | 39 18 6.6 | 71.4 76 |#E B 50 | 44 94 | 20.7 | 73.3| 126 [#K = 58 | 54 112 37.2 | 74.8
27 | %A ZAI 40 | 38 18 6.6 | 71.4 77 |%E 1§57 45 | 49 94 | 20.7 | 73.3 | 127 [AI&t R— 42 45 87| 12.0 [ 75.0
28 |[K & 39 | 39 18 6.6 | 71.4 18 |@II IEAN 42 | 38 80 6.6 [ 73.4 | 128 |fkE@ BB 42 45 87| 12.0 | 75.0
29 (Nim ZEth 42 | 36 18 6.6 | 71.4 9 |/hE —H 42 4 83 9.6 | 73.4 | 129 |BHEH & 45 | 46 91 16.0 | 75.0
30 /bl F 39 | 39 18 6.6 | 71.4 80 |#RH it 40 43 83 9.6 | 73.41 130 [F)N iE— 50 43 93 | 18.0 [ 75.0
31 M= 43 38 81 9.6 | 71.4 81 |F4<0O =& 46 | 41 93 | 19.6 | 73.4| 131 |sFH {£5h 48 45 93 | 18.0 [ 75.0
32 |8 # 46 | 45 91 19.6 | 71.4 82 Bkl FE 44 | 42 86 | 12.5 | 73.5| 132 |&EM EH 51 42 93 | 18.0 [ 75.0
33 | W= 42 | 49 91 19.6 | 71.4 83 |Hfin FPM 44 | 42 86 | 12.5 | 73.5 | 133 |{AIE& EF 94 | 50 104 { 29.0 | 75.0
34 (fBEx B— 411 43 84 | 12.5 | 71.5 84 |IBX EHE 40 | 39 19 5.4 T73.6 | 134 |iZEH & 47 | 43 90 | 14.8 | 75.2
35 |AEH =& 43 1 M4 84 | 12.5 | 71.5 85 |FE EAt 46 | 46 92 | 18.4 ( 73.6 || 135 [IU'F IERRE 45 | 45 90 | 14.8 | 75.2
36 |EE &= 45 | 39 84 |1 125 T71.5 86 | mF 44 | 48 92 | 18.4 | 73.6 || 136 &R KF0 47 | 43 90 | 14.8 | 75.2
37 | = 39 | 38 11 5.4 T71.6 87 |fril BRAER 46 48 94 | 20.4 | 73.6 | 137 |[KEH ZEX 48 44 92 | 16.8 | 75.2
38 |T =M 47 | 43 90 | 18.4 | T71.6 88 AKX EHiF 52 48 100 | 26.4 | 73.6 | 138 [/MiIl FnE 61 | 49 110 | 34.8 | 75.2
39 |&L FTE 49 43 92 | 20.4( 71.6 89 |&FNl R— 95 | 57 12| 38.4 | 73.6( 139 |mpE AR 52 | 58 110 | 34.8 | 75.2
40 |[FR A{CHE 40 | 36 16 4.3 1.7 90 |FFHf R 42 | 43 85 | 11.3 | 73.7| 140 |M1 BE5H 44 | 45 89 | 13.7] 75.3
41 1A BE 43 | 40 83| 11.3 [ 71.7 o1 |Nliw BRE 40 41 81 1.2 | 73.8( 141 |Flim A% 44 | 45 89 [ 13.7 [ 75.3
42 (KRR == 42 37 19 1.2 11.8 92 [A1EF E=HKF 44 | 47 91 17.2 | 73.8 || 142 |} =& 50 | 46 96 | 20.7 | 75.3
43 |lREF == 41 38 19 1.2 T71.8 93 |BRE FF 47 | 44 91 17.2 | 13.8 || 143 |RFE EH# 48 | 41 95 | 19.6 [ 75.4
44 [BF X 43 42 85| 13.2| 71.8 94 (K% & 42 51 93 | 19.2 | 73.8| 144 (#/ 0O F1T 53 44 97 | 21.6 | 75.4
45 [JERR =R 46 | 43 89 | 1.2 7.8 95 (= #24& 50 | 47 97 | 23.1 13.9 || 145 (935 24T 96 47 103 [ 27.6 | 75.4
46 (T K 38 | 37 15 3.1 7.9 96 [i= =B 48 | 49 97 | 23.1 | 73.9 | 146 |FHimz &= 54 49 103 | 27.6 | 75.4
47 |B8X HR 43 | 39 82 | 10.1 11.9 97 (Y2 M= 46 40 86 | 12.0 | 74.0 | 147 @&+ IEE 56 | 52 108 | 32.5 | 75.5
48 |FtH H= 42 | 40 82 | 10.1 | 71.9 98 |ILER 1= 46 46 92 | 18.0 | 74.0 | 148 |[fEE I} 48 | 46 94 | 18.4 75.6
49 1R I’ 48 | 47 95 | 23.1 11.9 99 | =B 43 49 92 | 18.0 | 74.0 | 149 |F%B =& 48 | 46 94 | 18.4 | 75.6
5 [iF EH 52 | 43 951 23.1 [ 71.9 ) 100 [Br% {&— 50 54 104 | 30.0) 740 150 |f85x %=— 49 47 96 | 20.4 [ 75.6
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BEAR A TLRYT R ok ok ok ok K
LRHD B 40 =M 40 LAY ok k Kk ok %
R ok ok ok ok X
B {32 K £ $hEE | LAY | R | GROSS [ HDCP NET JIE {2 K £ g5 | LAY | A | GROSS [ HDCP NET JIE {2 K £ #hEE | LAY [ A | GROSS | HDCP NET
151 |8 #2—BH 42 45 87 11.3 715.7 201 [+t FEMHER 53 50 103 25.2 11.8
152 |F¥ B&E 46 54 100 24.3 75.7 202 |#2 Ba47 47 41 88 10. 1 77.9
153 |HE BRth 51 49 100 24.3 15.7 203 |FEAR BEX 51 50 101 23.1 11.9
154 |[EK =& 42 41 83 1.2 75.8 204 ’BEH %— 52 48 100 21.9 78. 1
155 |[/\BH HR*%& 43 40 83 1.2 75.8 205 [Z =7 51 49 106 21.8 78.2
156 |K+&f BEH 45 44 89 13.2 75.8 206 (/NFE {E—ER 49 49 98 19.6 78. 4
157 =48 #X 46 4] 93 17.2 75.8 207 |BAX = 56 44 100 21.6 18. 4
158 |f#)Il #5F 52 54 106 30. 1 75.9 208 |4 FHRF 53 47 100 21.6 78. 4
159 |Jll#m &BH 43 42 85 9.0 76.0 209 /MR &B— 49 48 97 18. 4 18.6
160 [ FHEk 43 45 38 12.0 76.0 210 (i ZEs 48 49 97 18. 4 78. 6
161 |sh4t (=7 44 44 88 12.0 76.0 211 |88 K B=EF 50 54 104 25.4 78.6
162 |EAK EXR 51 55 106 30.0 76.0 212 (B EX 54 51 105 26.4 78. 6
163 |/MII 1EE 61 51 112 36.0 76.0 213 |FHFL ZEE 48 51 105 26.4 78.6
164 |db4 BB 49 49 98 21.9 76. 1 214 |¥HB  E&E 49 47 96 17.2 78. 8
165 [{Alg %% 49 42 91 14.8 76.2 215 &% = 60 58 118 39.2 78.8
166 |BRJIl {&— 50 49 99 22.8 76. 2 216 |B])Il  #EX 47 48 95 16.0 79.0
167 |#TlL JRA 52 47 99 22.8 76.2 217 | E% 1£3A 53 b5 108 29.0 79.0
168 |EX Rif 50 49 99 22.8 76. 2 218 (fxEH =i 44 43 87 7.8 79.2
169 |AR #= 54 50 104 27.8 76.2 219 %% HBxX 48 42 90 10. 8 79.2
170 |8%& I1E& 45 45 90 13.7 76. 3 220 | K8 BlT 59 55 114 34.8 79.2
171 |Rb % 45 45 90 13.7 76.3 221 (dJIl [ 50 51 107 21.6 79.4
172 |1¥E FE 60 50 110 33.7 76.3 222 |EJ)\ =& 55 57 112 32.5 79.5
173 |FFA  F5h 43 43 86 9.6 76.4 223 |[FW =E=EFEF 57 b5 112 32.5 79.5
174 (@B & 44 42 86 9.6 76. 4 224 | Tk E& 51 49 100 20.4 79.6
175 |&HFEX B%R 42 44 86 9.6 76.4 225 |[ILKX  F 4 52 93 13.2 79.8
176 |5t E=— 48 44 92 15.6 76. 4 226 |HF MEE 55 44 99 19.2 79.8
177 |fkik 135 46 46 92 15.6 76. 4 227 |#HA S b5 50 105 25.2 79.8
178 (#AHR IE&8 41 48 89 12.5 76.5 228 [kt 8% 63 57 120 40.0 80.0
179 |ME RIE 55 54 109 32.5 76.5 229 ({RE Hif 45 44 89 8.4 80.6
180 [Pl #-F 39 43 82 5.4 76. 6 230 |iAEE MIX 62 57 119 38. 4 80.6
181 |&#F & 49 48 97 20.4 76.6 231 |28 %= 54 46 100 19.2 80. 8
182 |S#& H 45 43 88 11.3 76.7 232 |IMK EE 55 56 111 30.0 81.0
183 | X% =E:X 53 48 101 24.3 76.7 233 |2 & 67 54 121 40.0 81.0
184 |dth% 5&E 54 47 101 24.3 76.7 234 ['"fA EF 66 46 112 30. 1 81.9
185 A & 54 54 108 31.3 76.7 235 |[RE &I 64 47 111 28.8 82.2
186 | B2 = 52 38 90 13.2 76.8 236 |Bim Fif 60 51 111 28.8 82.2
187 |EH & 58 49 107 30. 1 76.9 237 |&ZE FARER 54 54 108 25. 4 82.6
188 [RiE BX 45 38 83 6.0 77.0 238 (BE& £ 50 52 102 19.2 82.8
189 |4tEF &t 48 47 95 18.0 71.0 239 (2% F— 55 64 119 36.0 83.0
190 [lUfz 44 51 95 18.0 77.0 240 |57 & 49 45 94 10. 8 83.2
191 |sh4t &= 51 50 101 24.0 71.0 241 |BEH FEZE 50 54 104 20.4 83.6
192 |18 =5 51 50 101 24.0 77.0 NR|L#  Fotb
193 (L% &EF 56 50 106 29.0 71.0 NRIZ+ RIR
19 AR =2 45 43 88 10.8 117.2 NR(BkI% {2
195 |F0E =& 47 | 45 92 14. 8 11.2 NR{FE)I EXR
196 |ZH [E= 50 44 94 16.8 17.2
197 |KIE i 53 45 98 20.7 77.3
198 |mEB {k#B% 51 51 102 24.3 17.7
199 | R+ 60 42 102 24.3 11.7
200 |ZEJII BESF 48 43 91 13. 77.8
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